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Eveiws forecast (from midterm) Explanation. Illustrate with ARMA(1,1)
We said,

rt = c+ ρrt−1 + εt + θεt−1

µ = E (r) = c+ ρE (r)→ c = µ(1− ρ)

Eviews sets up the ARMA(1,1) like this

rt = µ+ zt

zt = ρzt−1 + εt + θεt−1

ρrt−1 = ρµ+ ρzt−1

rt − ρrt−1 = µ (1− ρ) + zt − ρzt−1

rt = µ (1− ρ) + ρrt−1 + εt + θεt−1

So in Eviews estimation, the constant is µ.Eview forecast is

Et (rt+1) = µ+ Etzt+1 = µ+ ρzt + θεt

But when I did it by hand, I thought the constant was c = µ(1− ρ).

Let’s quickly review what we been doing.
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